Cathy and Johnny have decided to expand their business by buying a hair salon in a nearby town and turning it into a second Cathy and Johnny’s salon. The total cost of buying and converting this new salon will be £245 000. They believe that once the new salon is open, it will make profi ts that are similar to the existing Cathy and Johnny’s.

They have decided to approach their bank for a loan of £245 000, repayable over ten years. The annual amount to be repaid will be £33 000 per year. The bank has asked for the following documents to be provided to help it to decide

whether or not a loan should be granted:

􀁺 the Profi t and Loss Account for the four months ended 31 December 2007

􀁺 the Balance Sheet as at 31 December 2007.
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Cathy and Johnny’s
Profit and Loss Account

for the four months ended 31 December 2007

Sales revenue

250000

Cost of sales.

70000

Gross profit

Expenses

Wages

Rates

Other costs

Total expenses

Net Profit

(3 marks)

ofz





Using the formula Net profit x 100 calculate the net profit achieved in the four months ending to 31st December 2007 



   Sales Revenue


............................................................................................................................................................................................. ............................................................................................................................................................................................. ............................................................................................................................................................................................. ..........................................................................................................................................................................................................................................................................................................................................................................(3 marks)

2.) Last year the net profit margin was 30%. Using this and any other information would the profit and loss account that you have completed in (a)(i) help Cathy and Johnny to get a loan from the bank? Justify your answer.

.......................................................................................................................................................................................................................................................................................................................................................................................... ............................................................................................................................................................................................. ..............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(5 marks)
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filling in the shaded boxes in the table below.

Catly and Jolnny’s
Balance Sheet as at 31 December 2007
B

Fixed assets

Premises 380000

Equipment 70000
450000

Current assets

Stock 18000

Bank 35000

Total current assets

Less current liabilities

Creditors 22000

Net current assets

Net total assets.

Financed by

Owners’ funds 481000
481000
(3 marks)
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Explain what is meant by the term ‘current asset’.

.......................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(2 marks)
Calculate the current ratio using the formula Current assets : Current liabilities
.......................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(2 marks)
(iii) What 2 pieces of information from the Balance Sheet in (b)(i) might be useful to a bank in deciding whether or not to give a loan to Cathy and Johnny’s? Explain your answer.

....................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................(6 marks)

How should Cathy and Johnny finance the purchase of the new salon? Justify your answer. (9 marks)
Mini mark scheme ideas:

2.) The loan is for £245 000 and the business is making £50 000 per four months so could easily meet the repayments of £33 000 per annum;

f the new salon makes as much as the existing salon then the loan could be paid off much more quickly.

Current assets are possessions of the business (1) usually kept for less than a year/constantly changing (1).

The balance sheet shows the financial position of the business at that date;

the balance sheet shows the assets and liabilities of the business;

the business has few liabilities and lots of assets;

net worth is higher than the loan amount.

Answers can include:

becoming a limited company;

owners funds;

mortgage;

another partner.
references to loss of ownership;
consideration of the size of the loan in relation to profit and loss account and balance sheet;

future plans . will they continue to expand the brand?
